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PART -1II
Heullwev / GEOGRAPHY

(sl wHmID Y m&le eudl / Tamil & English Version)

& ey : 3.00 wewtl CryL | [ Qs wIutluearger : 70
Time Allowed : 3.00 Hours ] [ Maximum Marks : 70
Sleyemrse : (1) Smasg lamésephd slwurg uSHeurd o drensT eranLsmen FilLTTSSEH

Instructions :

Qamareraybd. FsLILS N GampuilmLiber Semns seamsreanilliumerflLb
o L amqwinss Ggfleillgsem.

!ga)Lb Sog  SmUY owbullamear WLLEHCL TWHSHGLW
23 &ECsTIg(Haugn@Gb LweaU(hds GCalar(Hbd. LLBIGET eUaFeusnE
QuenFled L I(HSSeLD.

Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw diagrams.

U@ - 1/ PART -1

@Y : () IS F NHaTssEnsEE0n eflenwaflésaLb.

15x1=15

(i) GarGssuul(Herer mrem@ WIHM el sGailed W&a|D 6FMHLjenL Wl

devLeows CsmrldsOsgs GMULBLa aloLwlmaryn Carsg

CT(LPSELD.

Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and write

the option code and the corresponding answer.
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WIS LOTen &S DL THS CEram LGdamer o etarsdlameusamer Glsfey GlFus.

(i) =Cwh&ss padw Briger wHHWL LG, CeuliLiweri e Cona@ < lkbfssT,
raglwreder Gon@l LGs womib Hips@ oGrmaur

(i) @pdwureder gasren YLy, wgsHw Farm, QLEHACHT SLyBller GgnEL
SCE

(i) euL&lp&E UGrSe wHMID WSS Fled

(iv) Qser =Glwfssreiler oGuoarar UGS wHmib <L IdfssTeler srhGCsT, Herm
womib Hfarorbder <igsd LGH LOHMD FHeull LiGHser

(<=1) (@), (i) pmd (iii) (<) (i) Lopmd (iii)

(&) (i), (i) whoid (iv) (/) (D) womid (i)

Pick out the option which consists of moderate density of population.

(i)  Central part of the United States of America, Tropical Western Africa, Western blocks
of Russia, Eastern Europe.

(ii) Deccan plateau of India, Central China, Southern portion of the plateau of Mexico.
(iii) North - Eastern Brazil and Central Chile.

(iv) Amazon forest region of South America and Congo forest region of Africa, Arctic area
of Canada and Greenland and the Polar regions.

@) (i), (ii) and (i) (b) (i) and (i)
() (i), (iii) and (iv) (d) (i) and (ii)

BIHM&ESewTd ST, AUNTsEsarssTear 2,6 (& @héEE (e WwellgTser 1ps el
Carerdl @L 1D eremml OTE)L 6L TETTS6T BOLGUS)

(=) dlpsE YUafssreild Quilu Were|l LeTaTsSTSES,
(=) wliresv LHMD L& LETaTHSTES,

(@) <YUaflssreliler enped LIGTETSSTEES,

() ySlwreller fbg LTSS TEES,

Most anthropologists believe that hundreds of thousands of years ago humans first appeared

a) The Great Rift Valley in East Africa.
b) The Euphrates and Tigris Valley.

¢) The Nile Valley of Africa.

d) The Indus Valley of Asia.
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1 Wlevadlwerr &&6T QFTang QETarTL (P BSTLILDS Gl Ui (Bléedlier B&FD) :
(=) Bluywimis (<=,) @ everrLer (@) CumsdlCur () umrflev
The first urban settlement to reach a population of one million (Million City) is :

(a) New York (b) London (c) Tokyo (d) Paris

YemeumeuameummieT eTgl W& Smbs Fromer Hleodsfl ?
(=) A lamev (=) 5L (@) bsTams  (FF) ellbeneri
Which of the following is the best quality Coal ?

(a) Bituminous (b) Peat () Anthracite (d) Lignite

Qumrmsd eflen Csirs.
enhen i iy Wss Gonbs soellwumde| alldlgDd
Arisliym

i) Ws flsworear Lrellear edldlsbd

LS Georm LrGam

iii) 816 fles @QeriCLmEs alldlgn

omr_efwim iv) s odle oar’ L F555 aldlgD

(1) Niger (i) Lowest Literacy rate

(2) Singapore (i) Highest Sex ratio

(3) Burkina faso (i) Highest Fertility rate

(4) Latvia (iv) Highest Nutritional density
@  (D)-Gv), 2)-(ii), (3)-(i), (4)-0)

(b) (D)), (2)-(v), (3)-(1), (4)-(i)

(© (-G, (2)-(v), B)-(1), (4)-(iii)

(d)  (D)-0) 2)-(iid), (3)-(i), (4)-(v)
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6. Spssaeupmier erg CarlLliLudi e ?
(<) Gamerid (<=y,) Caullenav (@) CarsCsar (/F) &md
Which one of the following is not a Plantation Crop ?
(a) Corn (b) Tea (c) Cocoa (d) Coffee

7.  Qemeumelareupmier LW (er@pdl) erevenevd Camiigh@ 2 STraurd Wrg ?
(=) el < UbflgsT wpmib CwhEs p&dlu Briiger ereenes6T
(<) Quirlwur wHmibd Hpsa@, Cuong dgrweal G Gw o éTer eréane
(@) xaCrmubw prhser
() urdlevgrammed Y &HTolssiul L sreaudi ugd

Which of the following is an example of Relict boundaries ?

(a) North Africa and the State boundaries of U.S.A.

b) Persia and the boundary between East and West Germany.

(
() The countries of Europe.
(

d) Pakistan occupied Kashmir.

8. WYareumb smpmiseiler eTHS eemm WL (Hbd eurengreraien Geouermair Lomdl il udleor
ELOTETLD Ve ?
(=) @QUuEH Weaugib waTeailear arenwu|bd sroblee b Erpm &mewri-
LRSS
(<) @8 salss wsHrdliunm srhserre @GUUL (D Sraulihdng).
(@) edeusmillser Flsul s Qerugsdnars FueoubEnmiser.
() @B Hleolugd wweigib msermGeor, waasEemTCr Gn&ESLTs FoLrer
yellliurlenus Gerent(hererg).
Which of the following is not the assumptions of Vonthunen’s Model of agriculture ?
(a) The soil quality and climate are not consistent throughout the State.
(b) The isolated State is surrounded by an unoccupied wilderness.
(c) Farmers act to maximize profits.
(

d) The land of the State is completely flat and has no rivers or mountains to interrupt the
terrain.



10.

11.

sflurs QurmbsTs @Qeamareawsd Csibos(H&sa b

(<) GALILEO - eluman
(=) GPS - <0 M&s &S BrHser
(@) BEIDOU - Eeorr

() GLONASS -  @pegwr

Which one is wrongly matched ?

(a) GALILEO - Japan
(b) GPS - United States of America
(c) BEIDOU - China

Russia

(d) GLONASS

wOlarevGaralen smegiLiLig S ussrer Cwrdaeafler mnbg Hlaosaile Gpbansser
Guearg HlFswwrs < LsE Hleveuled o erer ClinTlsetien ereremtsamns

(<=1) 646 CoTPlser (<=4, 457 Qoriplser

(@) 374 Qrpser (rr) 970 Qmriplser

Of the UNESCO'’s five levels of language risk, definitely endangered languages that children
do not speak are :

(a) 646 languages (b) 457 languages

(c) 374 languages (d) 970 languages

2 &EF FHMIFGHLPED OHMID aleTTES YmarTSHNEG sameend audlgsg wrr ?
(=) eriieum Gamedl_evidlg (<) ggrirey Clurdlemen Lomieiy

(@) ooligplon aFOF6lFT (FF) &Grm anmiGlevd LiFemTL_evemTL
Who headed the World Commission on Environment and Development ?

(a) Edward Goldsmith (b) George Perkins Marsh

(c)  Fruitz Schumacher (d) Gro Harlem Brundtland

7468

[ lliys / Turn over



7468

12.

13.

14.

@opps Slarels & Lyaid Geusid :

(=) 4-6 B5/CQpmg (=) 1-3 B5/CApmg
(@) 6-8 B/Gpmg () 3-5 8/Qpmy
The spreading speed of low fire is :

(@) 4-6m/sec b) 1-3m/sec

(c) 6-8m/sec (d) 3-5m/sec

Wereumd prihseie org CLaTESEGHS Q& @GHmer enoaudle Lpeoreamnt udle
2 6Teng ?

(=1) priCau (<) QLeromia (@) Wymemev (/) eveiL e

Which of the following countries lead in achieving sustainable development goals ?

(a) Norway (b) Denmark (c) France (d) Sweden
CesererGums Gl Cuilifler Gumrgy &g,@ﬁg, @DLUIL&ET LD &S TE
ghuUbhEermer.

(1) 55 ()75 (&) 85 () 65

Drowning account for percentage of deaths in flood disasters.

(a) 55 (b) 75 (c) 85 d) 65
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15. 2 edler WsLCufw yell Ceuliu @ pmeder 2 HuSHwmer :
(1) sam_r (<) paiswn
(@) &er (F) <Cwfés padu priHser
The largest producer of Geo Thermal Energy in the world is :
(a) Canada (b) Russia

(¢) China (d) The US.A.

U@&S| - 11/ PART - II

GOl : gCxend ym earmssErs@ e welssebn. elearm eram 24 -&@
SL_L_muwns adenL_wefldsabd. 6x2=12

Note : Answer any six questions. Question No. 24 is compulsory.

16. @GODEUTET OSGSHET L THSESTET BT6m@ SHTFETHISENETS Fnnis.

Mention the four reasons for low density of population.

17. @enenhg BSTD eTaneNS eUTLNISSEUT WTT ? @QenenThs BSTSSDE, e 2 -STTenTLd
LIGED

Who defined the term conurbation ? Give an example of conurbation.

18. 2 dlar sl Uil sTHmTene ermi@eTeng ? ClEUIFTOT STHMIL LLBIST SenobgeTer
rHlen ergl ?

Where is the world’s largest wind farm located ? In which State, Jaisalmer Wind Park is
located ?

[ lliys / Turn over



7468 8

19. B4oss Garde updl Ao GOlLL euemys.

Write a short note on cottage industries.

20. @bl Qmhemer (PSemeWINE 2 6TeTL &Sl Bren@ Cmifls @O bUBGET erenel ?

What are the four linguistic families that Indian languages mainly belong to ?

21. L Gpmer — Sy @O cuenys.

Write a short note on Drone.

22, Urerl e hlsams Tend ig&ECaTglhE ST (hdlmg ?

What did the Brundtland Report highlight ?

23. & MuSHDETET STFERTBISET WTamel ?

What are the causes of fire accident ?

24. griyblene elldlsd UMM Sm @GDILLY cuenTs.

Write a short note on Dependency ratio.

U@ - 11/ PART - III

@Y : gCsepd ymi farrés@ErsE el waellGsaeb. 33 -eug elearmelns
SL_L_MULONS 6SlenL 6T(LpSaLD. 6x3=18

Note : Answer any six questions. Question No. 33 is compulsory.

25. paruyp efleursssdnsrear srrammbseaiae G epamHlenar er(pgis.

Write any three causes of Urban Sprawl.



26.

27.

28.

29.

30.

31.

32.

33.
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@rdwureie gnsGamnw 70 556485 r(psshHleunCorenysd Camem (HeTer <i,m)
rHlemIGeneTi L iq w6l (hs.

Name six Indian States which account for about 70% of all illiterates in India.

sTdlrgdler LwemUThseT gCsaid epearhleners @GHILILAHS.

State any three uses of Copper.

Qgmfles Semwall_samg HliramuilsE sryanflger wrane ?

List out the factors which affects the location of Industries.

ECsromiigellmbg srasmi® ereucurm GCeumuBhidEng ?

How is Caucasoid different from Mongoloid ?

2 are| WswnamssCGaratier LTl sl gGCasaid epearhlenar 6T(LFis.

Write any three characteristics of Spy Satellite.

@Qumnens Geuermewrentolt LHM GHILIL] cUeHTS.

Write a note on Organic farming.

PRGSMOS SHLILSHETET eulpanmaaticd erCHend epeTHEnaT 6T(LPGIs.

Write any three preventive measures of drowning.

umflev o Lerur® ubbl Golliy euenrs.
Write a note on Paris Agreement.
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U@ - IV /PART - IV
GO : Semensgl elamés@EnsEn el waflsseab. 5x5=25

Note : Answer all the questions.

34. () parwwwrsdlen rFsameansamer 6l6TsEs.
LMV
(<) sl Qpflgadenr Curg Werunm Ceuamgw Cswed elsamer aflorsEs.
(a) Explain the problems of Urbanisation.
OR

(b) Explain the rules of action during stampede.

35. (1) eueridflwen_Bg womid Wersmdlw prihsefler uaryseafler rCseld epemmlenet
leuf&Esalb.

S|6V60F)
(=) @bHwreder padw Corplseerts LHM ebleTsEs.
(a) Explain any three characteristics of the developed and the least developed countries.

OR

(b)  Explain the major languages of India.

36. (=) Qewmens Corersafier euamssamer adleufl&EsHeaLD.
VN Y
(<) sTebleney IHMSIH e afleneTa|gHemer alleTsEs.
(a) Describe the types of Satellite.
OR

(b) Describe the effects of climate change.



37.

38.

11

(=) 25 Aarhipgienn euerréHuder (pgLsbUTs elleTnh @G Seflobd erg ?
SleuDMlen eUMSHMET 6leTEEHs.
S|606V G
(<) OTETEITHERESTET g liLen STl Urgsriy aldlsamer Ul iquwiedll (),
SjeunmieT FCH@ID epadliener allersEs.

(a) Which mineral is the backbone of industrial development of the world ? Explain its
types.
OR

(b) List out basic road safety rules for students and explain any three of them.

(=) Car@ssliul_(Herer 2 s Hlo cuenruL Sl Lldeadlwer parmismars GNlSsHisH
sTly S @OILLY eT(pFIs.
3606V
(=) 25 Upeulfl Hlowaarugdle 2 s QUICrralw 2 HussH wHmibd LFele
MIIBIGENETS GDISSH ML LDOIS GOILL| 6T(LPGIS.
(@)  On the outline map of the world, mark the Million Cities and give a short note on them.
OR

(b) On the outline map of the world, show the petroleum production and distribution
centres of the world and write a brief account of them.
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